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VI Semester B.Com. Examination, September 2020 
(CBCS (F+R) Scheme) (2017-18 and Onwards) 

COMMERCE 
Paper - 6.5 : Business Taxation (Elective Paper - Ill) 

Time : 3 Hours Max. Marks : 70 

Instruction : Answers should be written either in English or in 

Kannada. 

SECTION - A 

2 &pe r' - 2  

Answer any five sub-questions. Each sub-question carries two marks. 

1)cads er eds,pisrf eug0. 3d,32 eustad,ri 2cat eons. 

1 .  a) What is E-filing ? 

-ad,or? 2o0deb ? 

b) Define customs port. 

ebxb zoo'd oded ? 

c) Expand PAN and CIF. 

PAN ab8 CIFrasrb z03. 
o el .D 

d) Mention advantages of partnership firm. 

2 €U2Ob2 0ob es&rs'b 39. 
0 el 

e) What is an Indian company? 

&pp3cob op oaesd ? 

f) What is a block of assets ? 

eris rbos odd&sb ? 

g) Who is a working partner ? 

b2ob ?3 &po oad 0dd? 

(5x2=10) 

P.T.O. 
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SECTION-8 

2&pr- 2 

Answer any three questions. Each question carries six marks. 

ad!odd .s> dirt eug0. 52 ad,ziri ect eorl. 

2. On 1-4-2018 opening WDV of a block of assets having machines X and Y was 
Rs. 8,00,000. During the month of April, 2018 a new machine Z was purchased 
for Rs. 6,00,000 and put to use on 15-4-2018. A part of machine Y valued at 
Rs. 40,000 was sold for Rs. 60,000 on 1-2-2019. 
Calculate the closing WDV when the rate of depreciation is 15% considering it 
as a manufacturing company. 

X bsY ob03,ri ez road e0oz; ad?e, 1-4-2018 ob de. 8,00,000. 2€° 

20180 a#' ob03, Z & de. 6,00,000 nrf s20e0 eU 15-4-20180 
el  e 

2se ecdozpscsb. de. 40,000 ate, Y oc3, 2prtors, de. 60,000 
1-2-2019d ad2o3. 

3. Explain the objectives of customs duty. 

ebb 5bod &des o. 
O e 

4. According to Income Tax Act advise an assessee about admissibility or otherwise 
of the following while computing income from business. 

i) Commission of Rs. 40,000 paid to procure orders for the business. 
ii) Loss due to embezzlement by an employee. 
iii) Cash expenditure of Rs. 34,000. 
iv) Interest on loan taken to pay income tax. 
v) Discount allowed for prompt payment of dues. 
vi) Penalty for importing prohibited goods. 

ebb 0rd0 5202b 3,2 ad, 'ox 2ca e0ob5d2 o&0bard & 

6n' a3ris #l,3 egs es, a2±r rise a02db, 393. 
i) ad,a'ace, 220e0 ea,ob, di0be ad'3»0 air d. 40,000 
ii) ep@0200e d ass' zbds'er 

2) · 

iii) rob d ,'  2aF da. 34,000 
cy 

iv) eooo or' u 5rib&o0 =a de 
e} 

v) 33,ad& db 3ad30b #bob,pe@ad 0ac23. 

vi) oaie@3 and ebb ad@c2,/1 22ad3U} co. 
-o et O 

(3x6=18) 
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5 . X  Y  and Z are partners in a firm sharing profits and losses in the ratio 1 :  2  :  3. 
Profits of the firm for the year ended on 31-3-2019 was Rs. 1 ,31 ,800 after 
considering the following items to P and L Account. 

i) Salary to partners : 

X : Rs. 1 ,30,000 and Y :  s. 1 ,20,000 
ii) Interest on capital at 20% 

X : Rs. 3,500, Y : s. 14,000; Z : Rs. 10,500 

iii) Commission to partners : 

X :  Rs. 5,000, Y :  s. 12,500, Z :  Rs. 17,500 

Compute the allowable remuneration of the partners. 
X, Y  ab3Z 002 a2&02Us & & al 7 , 1 : 2 :  3  0doc sis,302¢ 

-o " el < c so 

3 1 - 3 - 2 0 1 9 %,  sriso ads0' 25 ea} 6sns eon's son'd»0} o3 

de. 1 ,31 ,800.  

i) a2e0»d de33: 

X :  0de. 1 ,30,000 2 Y : 0de. 1,20,000 
-" 

ii) ors'd' de 22 5e 20 0: X :  de.  3,500, Y :  d.  14,000; 
a 

Z :  e. 10,500 

ii) eo»corf oe@ ads° : X :  de. 5,000, Y : d. 12,500, Z :  de. 17,500 

6. Mr. Prashanth estimated the following incomes relevant for the assessment 
year 2019-20. 

a) Computed income from house property : Rs. 1,40,000 

b) Computed income from business :  Rs. 8 ,60 ,000. 

Calculate advance tax payable. 

2,€ g,2U AY 2019-20, &oU&doc eoabris ac3. 

a) biol 3.33d ate eco (ot&@o3) de. 1,40,000 

b) ad,ad00a 0a e0ob (or&@03) de. 8,60,000 

32333le2 or eu»ob orob&b o&@op0. 
c{ 
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SECTION-C 

2or- 2 
d  
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Answer any three questions. Each question carries fourteen marks. (3x14=42) 

053cads sh.ch znerd ego». 3,2 zrf vase? eosls. 

7. Adithya Ltd., showed a profit of Rs. 3,35,000 during 2018-19 scrutiny of accounts 
revealed the following : 
a) Donation to an approved charitable trust by cheque Rs. 20,000 
b) Provision for Income Tax Rs. 1,00,000 
c) Family planning expenses (Revenue) Rs. 25,000 
d) Capital expenditure Rs. 1,00,000 
e) Bad debts allowed earlier recovered during year Rs. 10,000 
f) Interest on bank deposits Rs. 30,000 
g) L.T.C. gain Rs. 1,00,000 
h) Debenture interest from another company (Gross) Rs. 20,000. 

Additional information : 

i) Unabsorbed depreciation Rs. 30,000 and 

ii) Unabsorbed long term capital loss of Rs. 40,000, brought forward from the 
earlier years. 

Compute total income of the company for the A Y 2019-20. 

2018-19 sals 5 02.0»cos e03, 850d 0d,9 »g de. 3,35,000 ac. 

e, st3r's 3ts s 6shod eozlb 2.&0or@»c'. 
a) esdxie03 &2##r edr de. 20,000 

q) 

b) eo»ob or'ri ab5jess d. 1,00,000 
c) 2u3202 8c,a a3,(2dg) de. 25,000 
d) zoos a2as de. 1,00,000 
e) &o03 ads n's e<db33'2ad &» & ads orb &op de. 10,000 

M  

1) a,° err bee 2@,de. 30,000 
g) 0&gr 2es ors eo»ab d. 1,00,000 
h) @eons 2be' 2ad. 20,000 (Gross) 

• ad&3: 
i )  0&or'a} ob a03 d. 30,000 

D 

i i) a005&2ra' 0&F ad0 2ors d,d. 40,000 (&o08' akale rid 3'd2,) 
oa?0 2. &J2 Oba3 Box3F Gs sale 2019-20, or&@00. 

ed el t 
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20,000 
40,000 

9,76,400 

Rs. 

9,16,400 By Gross Profit 
By Interest on 

Non-Govt. securities 
(Gross) 

By LTC gain 

To office expenses 
To Interest on 

4,000 
1,44,000 

72,000 
4,44,400 
9,76,400 

Compute total income of the firm and tax payable by the firm. 

capital in excess of 
specified limit 

A :  Rs. 2,000 
B :  Rs. 1 ,000 
C :  Rs. 1,000 

To Salary to B 
To Commission to C 
To Net profit 

8. A, B and C are partners in a firm sharing profits and losses in the ratio 2 : 2 : 1 
respectively. Their P/L Ale was as follow: 

Profit and Loss Ale for the year ended 31-3-2019 

Rs. 

3,12,000 

rR 

A, B ads C &pod a&xo02 #0 &d al 7' b 2 : 2 : 1  e3db23' 
-o e el c 

aos#.09,32d. 31-3-20195 #rto aadr ad ea &2pa¢, a a3d. 

ce}id,as 
• 0ad 

20,000 
40,000 

9,76,400 

9,16,400 <° €22' cp 

3'2F &3 

,0eris dee e 

(le) 
LTCG 

4,44,400 
9,76,400 

'02 2&3 , & J  02 as 2ad3s'ea eoob or'ob &@o;0. 
p ed • el 
\ 

\ 
\ 

rR as° 
i 

\ ·  

,ce 
\  

deb a2brr 3,12,000 
203»s be3 

.@,(2nos a3r 

a2r05,) 
A :  0de. 2,000 
B :  e. 1 ,000 
C :  d. 1 ,000 4,000 

B355&3} 1,44,000 
72,000 

I 

\ 
t 

\ 
I 

\ 

\ 
t 

\ 
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9. From the following details compute TDS amount for each transaction. 

Rs. 

a) Winnings from lottery (Gross) 90,000 

b) Real estate brokerage 24,000 

c) LIC maturity amount on policy 6,00,000 

d) Advance received for sale of a building 
(sale value Rs. 80 lakh) 30,00,000 

e) Agricultural land sale for Rs. 60,00,000 advance received 20,00,000 

f) _ Building rent paid to owner 56,000 p.m. 

g) Interest on securities (Gross) 36,000 

&9o 2ark eR TDS 3b ad3 &&rrR o&@c0. 
.0 el ­ 

a) eve3ob red de ad3 
Q -P 

b) be 25jg&> £tr 

c) LIC co &o a0&3 & 

d) e3pad ado»ui, ab2or as (du0 de d. 80 ez) 
e) ad,pd o±ad do2 ados, aton' 

(ado23 ate de. 60,00,000) 

) egg a@rd ads 3onto'i 

g) #e,eris 5rs ea,(%@e) 

de. 

90,000 

24,000 

6,00,000 

30,00,000 

20,00,000 

56,000 

36,000 

1 0. Maruthi industries imported a machine for 10,000 dollars from USA. From t 

following information calculate assessable value and customs duty payab' 
a) Packing charges 240 dollars 
b) Design and development charges 600 dollars 
c} Insurance 100 dollars 
d) Freight charges through air 320 dollars 
e) Commission paid to a broker who arranged the transaction 200« 
f) Exchange rate specified by board one dollar = Rs. 70 

g) Basic customers duty 10% 
h) IGST @ 18% 
i) Social welfare cess applicable at 10% on BCD. 

i  

1  
(  

I 

I 
I 

I 
( 

I  

I 
l  

I 
I 

a 
1 

I 
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dcd3 a03,€5° 10,000 a2eons ae, 01035'6d2, 0510.025.. 000 ecb 

ad@d. 6oa 2an aber orris#@spa' at?e ad ebcb zb0kb, 
o&@c"0. 

a) a,8or sda}, 240 c2eon% 

b) 252,37 ad2 eep,ob ate3, 600 c2ob 

c) ad 22as 100 02&o7'? 

d) or&do d},(a012) 320 c2eons? 

e) ad,ad &oboe aou3or' &3,a5r 200 02&Ur 

f) pa a ziesF eras3 1 oeo = de. 70 

g) be exd #08 10% 

h) IGST 18% 

i) =ad2a3 2,r 5i° (SWC) be ebxd so' be& e. 10co e,ob. 

1 1 .  Following is the P and L Ale of Skanda Ltd., and Indian Co., for the year ended 
31-3-2019. 

Profit and Loss Account 

Rs. 

Salaries and wages 1,50,000 Gross profit 

Advertisement exp. 30,000 

Insurance 50,000 

Penalty 10,000 

Depreciation 20,000 

Income tax 6,000 

Transfer to gen. reserve 8,000 

Office exp. 3,000 

Loss of subsidiary company 5,000 

Net profit 2,18,000 

5,00,000 

Rs. 

5,00,000 

5,00,000 
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5,00,000 

a3es' d &o 1,50,000 <le €22' 
-D q 

232& &Us 3 30,000 
Zd 

2ad de3 50,000 
t,:j 

do 10,000 
3le 20,000 
eob r' 6,000 
52d&}, pr' a7Far 8,000 
Bee0 ad3 3,000 

t,:j 

eor' 3lab a? 5,000 
0 e 

a ce; 2,18,000 
5,00,000 

a3 2dJ&2: 

Additional information : 
a) Brought forward loss as per books of accounts is Rs. 25,000 and as per 

income tax is Rs. 30,000 
b) Unabsorbed depreciation as per books of accounts amount to Rs. 5,000 

and as per Income Tax Rs. 15,000 
c) Depreciation as per IT Rules Rs. 30,000 
Compute: 
1 )  Total income of the company under normal provisions and normal tax. 
2) Book profits and tax liability as per section 115-JB. 
3) Tax liability of the company ultimately. 

3dog 2&3331-3-2019, ioo al d &2ad, 3ob & 0e3 ad. 

e&;stet,35es 
de. de. 

5,00,000 

a) &o0sd sir 0' 3c' zd,2 0 3o 5d,al cad «z#y' zig de. 25,000 d3 ea2o 
brR z2 d. 30,000. 

b) a003'2r' ae sd'r's ads2 0 de. 5,000 ad3 ea or' 3do20 
d. 15,000. 

c) ec»ab or' v2ox!ab do sob do. 30,000. 

ox&@00: 

1 )  52ad&d &bbr'sob oo0 2., eUb 
? ¢ ed 

2) 1 15 -JB  db20 #' &2& abs or? a&20 
- .0 D O 

3) ea3a» ob or' 2»&0. 
o 

¢ 
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